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IS 18Y 189EH 8 993 pid 378 y3 w3 857 & ry3l 378 y'8s J9

i) OH YHE Y37 €9 I8 14 YHS I3 | H'T YHE 7991 I /|

(i) 18T YHE Y37 BB Y 69 S50 fop™ T - Y3 &, & 3 T |

(i) YT S5 6 YHS (Y.H. 13 6) IB, 173" Ied IT 18 YHE 2 Wa &7
T | EYHE 5T #egal [asy 1637 o™ T 1

(iv) YFHET4YHS (L.H. 73 10) T3, 73" <9 IT €7 YHE 3 Wd €7
T | R YHE feT »#egal [easy 1e3™ fapy J |

W YFTIET 4 YHSE (Y.H. 11 3 14) I3, 173" €9 I od YHE 4 Hd
g J | B yHS [9 Wegd] [easy fe3m fapnm J | 187 45 &g €
YTTE HIPAS WIS YHE & FTHS T |

i) ABIBeT & T3 o FETHT 3AT |

CEE
YHE HIgH™ 1 3 6 35 JT 18d YHS € 2 #d IS |
1. (2 x < S W AHlaaT x2-2ax—(4b2-2a2)=0 § IS IJ |
Cu
(b) wag Swdt AHIIS (1 + a2 x2 + 2abx + 2 —¢2) = 0 € HS
g979d W3 THIER I, I THT I fa b2=c2(1+a2) J |

2. fod wigarfefaa ST (AP) o9 d=5 "3 agy =135 J | fom ST ©
Ufgd 20 U= ©7 743 Y37 IJ |

3. fo3 I¥ 99993 I3 T TISA (mode) U3 I :
=/ FITTT
15— 25 6
25 — 35 11
35 —45 22
45— 55 23
55 — 65 14
65— 175 5
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4. (@ 77.M. forg T f5g 89 (AS39ad) 993 fan feg o3
Ut gfonm I feg 14 A foum T 150 IS HIHIHT &
29= fen 397y Hid I8 19 Yot 397 uet fey 39 A Is |
gS6d 9936 @9 Ul © W39 (level) &f U™ U3T A9 | 2

Cu

b) 939 1fe9, 6 Al 77 =& fds w= § 937 nigHT »un
feg 43 fozm famr I | o0 397 8¢ WE9 T I8 ATt 4398
U3T J9 | 2
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5. ‘o < a7 Hs € B, wigdfefsd S 9,7, 5, ... "3 15,12,9, ...

-

g n< U< 9999 JJ7 ? 2

6. fU39 2 fe9, 9= 0 T3 T3 GUT PQ M3 PR WUIH Iyt fudhoft

J& | 799 £~ OPR =45° J, 3 fAT &3 f& ORPQ fex =91 J | 2
\NQ
P
45°
R
937 2
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YHE HiHT 7 3 10 35 I 18 YHS € 3 Wd IS |
7. (@ 8 AM. I frg 3 AB fug | fom Juds AB Gug fex
fdg P few 397 »ifa3 39 fa AP:PB=1:5 J |
ol
®) 3H.HL »gg ferm T fog Ja9 a9 | 99 fig 3 e At

ool Bug AfEs fig P 3 999 SUT © WUIW JU=' PA »3 PB
ot 9957 99 |

8. 20 HI. w3 28 Ht. Ot © < dfonr © fyg fea 39 &) 73 T
J& | AH3S &% 39 @ ¥4 30° © o< 3 J | 39 < St u3T A9
3 I& dignf fegdgt gdt u3m 49 |

9. o3 sHa® U9 feg 50 Hadt Aaed’ @ 99 (kg fe9) fagas fi3
e w3 I foud wigg Yz I

FT TEeT &
(kg 1ET) fare3T
100 — 110 4
110 — 120 12
120 — 130 23
130 — 140 8
140 — 150 3

IBUI HOH™S (assumed mean) fedt odft T6=d" @ HOH'S (mean)
I3 (kg fe9) U3™ a3 |
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10. I3 fedt 999793 @8 3 H'PHA (median) U™ &9 : 3
g FTTIT
1400 — 1550 6
1550 — 1700 13
1700 — 1850 25
1850 — 2000 10
CEE |

YHE T 11 3 14 39 IT 18d YHS € 4 W IS |
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(b)
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fg3d 3 feu, 429 0 W3 O’ &8 ¥ I99 FgHIJ »IU fod™H
or M3 r € I&, fod gHT § »ivgel U feg A Bud WugH <

J& | 23 Jag ot feg =39 (Hler) AB &8¢ Ja3 & ¢ Gug

fHadt I | =96 fa ¢, AB § € S999 Ir feg <8< J | 4
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U
939 4 =9, 5 H. M. »i9g foum =@ S99 @ deg fAg 0 T |
PA "3 BC daHed fdg A »3 B BUd fudh™ mugw qur=r
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12. fea fAur gavaar fea iz € 38 39 7" T | Hisg © figg 3
gzt foeq miadt feg 39 § 30° € 3lTE d (angle of depression) 3
T J, 7 g Hleg € 38 3 =8 § fod adt 9% &8 »r It J |
10 #fd3 fUg 99 = T d< 60° J 7T J | fen fig 3 e ©
3% 3% YJa< feg a9 vt o fap mut u3™ 99 |

YIS mfans - 1

13. Ja fe3 av 939 feg, feq ufgeg & wWiue wa © fuges feg s
By fed »rfegrarg Afefiar ys sfon™ | ys © 979 UH x HY, I3
HiHe (ddie) &% gfen™ Uar gy J | geu™ S gad! gaa
7 vt w3 12 . I3 | ys T U33e3 36 =91 HY. T |

(a) BUII3 gu&" & »U9 I x & YT feu feg Swdt mftage
gQ |
(b) YS ¥ I9 UH ¥ geU™d & 93¢ U3T IJ |
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&7
YIS mifthls - 2

76 & MU &t 92 @ Tt WS <H3T @ 58 THS & AoH fas &t
ygdt &t wHsT gt | "gfoer & 3 3T fa Aen fos ugdt I
A G YT =l w3 Jd F9d & T96 3 ydteedr | fegt &7
I @ ot @? s J& &9 YHTeA (dimensions) feA93 13 -

aq: 24 B formm w3 14 Bt B9t T Smeae (fa8saaa)
&t Agrag aft famdt Gt 24 Aot w3 Saga9 wgg &

ufgdt 44 7. T |

@) fed yag &t 4 i ga8e feg fass =gar H.H. I9m
& I ?

(b) EJdT & A& 3 I FI (05 kg, 1 kg, 1-5 kg, M) & faA™
5% HEeT I | WSt 33 »igng gfgnt § fa3a da Ma3g
JI&T I I, 79 650 H.H.3 9 100 g 9% € gIHT J ?
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